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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence and then mark the answer on your answer sheet.

Advertising proponents have been calling for companies to protect their brand -----------
and franchise by investing more money in advertising.

1) trend 2) return 3) equity 4) segment
Marketers attempt to identify --------- attributes, those that are important to consum
and the basis for making a purchase decision.

1) salient 2) obsolete 3) cohesive 4) persu
Entrepreneurs must be able to obtain financial -------------- , Which is likely to
individual investors, to support business development.

1) capital 2) statement 3) internship ? wnersh1§
usi company

The highest level of commitment is when an international b $ hases

as a wholly-owned ----------- , which is an independent compap ed parent
company.

1) asset 2) expenditure 3) subsidiary & 4) commodity

Strategic planning typically takes a wide view while ----- o is more narrowly
focused and short-term.

1) tactical 2) commercial 3) tg collateral

Most international businesses operate in a/a ‘ironment where environmental
change often is rapid and unpredictable.

1) placid 2) turbulent raudulent 4) legitimate

In order to gain market share i A, weare -8 -----—-- relationships with local agents.
1) setting out 2) bre utlding up 4) closing down
Sales staff who are impolite to'@Stomers ---45-------- the reputation of a company.

1) disrupt 3) facilitate 4) consolidate
Marketing research studies are co ned with consumers’ perceptions and attitudes,

lifestyle, and ---------- ase decisions.
1) criteria 3) prospects 4) implications
Consumers generally(tengytosbe less ----------- toward favorable information about a

product when ji
1) compatible

source they perceive as unbiased.
eptical 3) homogeneous 4) autonomous




PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space and then mark the correct answer on your answer sheet.

An entrepreneur is someone who undertakes a new (71) --------- . Entreprencurs are typically
seen as individuals who are willing to take on the risk of starting a business. In fact. most
entrepreneurs are good at (72) ----------- windows of opportunity. or areas of opportunity tha
others don’t see. What others perceive as (73) ----------- . entrepreneurs may perceive as ¢
opportunity. Entrepreneurs play an important role in developing new products, mark
employment. In the United States. small-and medium-sized enterprises (SML). ofte
businesses with fewer than 250 employees. (74) ---------- more than 99 percent of all
employers. They employ more than half of all (75) ---------- employees. they,
of total U.S. private payroll and annually gencrate 60 to 80 percent ‘nc j

71- 1) venture 2) revenue 3) transaction
72- 1) purchasing 2) generating 3) embracing
73- 1) synergy 2) risky 3) risk-taking
74- 1) cut off 2) evolve from 3) account for le down

75- 1) high-quality 2) self-service 3) one-paffity ate-sector

PART C: Reading Comprehensior

Directions: Read the following passa

Passage 1

In developing the firms
manager must carefully ¢
from direct brand ¢
of competition. su
both Coke an o launch more than two dozen new products in 2005. Besides
da market with products like Coke. Diet Coke with L.emon and more.
. Pepsi Twist Pepsi Blue. and Pepsi Vanilla, the companies face
er drink including bottled water, juices. and teas.

oney. For example. recently the U.S. market has seen significant growth in the
luxury market., with more consumers spending more of their money on luxury goods
than ever before. High-end products from Coach, Tiffany's. and Ralph Lauren are all benefiting
from this change in consumer spending habits. Interestingly. it is not just the wealthy who are
purchasing these very expensive products. but the middle class is doing so as well. L.eading
marketers apply labels such as the "mas-sification of Luxury." luxflation”. "or the "new luxury"
segments.
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An important aspect of marketing strategy development is the search for a competitive
advantage, something special a firm does or has that gives it an edge over competitors. Ways to
achieve a competitive advantage include having quality products that command a premium
price, providing superior customer service, having the lowest production costs and lower
prices, or dominating channels of distribution. Competitive advantage can also be achieved
through advertising that creates and maintains product differentiation and brand equity, an
example of which was the long-running advertising campaign for Michelin tires, which
stressed security as well as performance. The strong brand images of Colgate toothpaste,
Campbell's soup, Sony, and McDonald's give them a competitive advantage in their respecti
markets.

The passage is mainly about --------—---- .

1) opportunity analysis 2) competitive analysis

3) crisis management 4) international marketing

According to the passage, the change in consumer spending habit is the kesult ol’- ------- .
1) confidential marketing report 2) expansion of marke m

3) impressive profit figure 4) growth in luxury€

All of the following are true EXCEPT that ---------~-— .

1) having quality products is a way to establish business at the
2) in order to secure a competitive advantage, companicsg
services stand out from their competitors

3) in the aggressive business world. a company whigh
goods dominates a niche market

4) long-term advertising achieves a competitive ntage By
conducting extensive research
The word “discretionary” in li
1) joint 2) gross
Reading the passage, one can co sion that ------------—--- .

igh-end luxury market

2) by oftering goods and seryices at the [oWest price, a company gains the luxury market
3) a combination of low costand goo&uality is a key to success in marketing strategy
development.

4) to achieve differ

age, the business must focus on efficient production
Passage 2

rces a business to analyze the whole organization and the environment
. Planning can help map the future and can develop a common

ing and agreement within an organization. It helps to focus energy toward to

Is. Strategic planning allows a business to respond better to problems and change
esponse in response to a changing environment.

ational businesses operate in an environment that is more complex than a business
operating within a single culture. Cultural differences can lead to conflicts inside an
organization. An international company's size and physical distance between divisions add to
the complexity.
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Management must have a strategic view in order to allocate its resources. Developing an
international marketing strategy allows a business to be proactive. Proactive international
marketers realize that there are profits to be gained in global trade. They may have evaluated
their products and found they have unique advantages for markets around the world. Many
businesses find it important to gain economics of scale to be able to compete, especially when
international competitors are ready to enter global markets.

A business also can have a reactive strategic approach when it is forced to react to
environmental pressure. Many companies without international focus find themselves facin
competitive pressure from international companies. They are forced to conduct busines
internationally to maintain market share and customers. Companies also may find thg
have excess inventories that they are unable to sell in their home market. They ma
to look overseas for new market opportunities. Sometimes companies actually lose t
market. Perhaps new technology has replaced the need for their existing pr

onal mar#ts.
internattonal

pressures have forced them to move existing product lines into ncxwucr
Foreign customers can also initiate change by placing orders, which'o
business opportunities.

According to the passage, the attributes of a good planningiincludé®----==------- .
1) protection of the competitive marketing environment
2) dissemination of the best practices to obtain desired
3) separation of thought from practice in strategy deve pn

1) stock 2) slogan
It is explicitly mentioned in the(pass: P pational businesses ----------—-

distance
The passage suggests t .
1) uncover the busi t areafter the same target market

ng an edge over competitors in the global trade

a global brand in a number of potential domestic markets

etitors” strengths and weaknesses, imitate their strengths, and use their

3) prepare fi
4) arise tQ ex

are true EXCEPT that ----—------——— .
strategic approach is an intervention used to minimize declining market.
lose their domestic market since they lack the tradition and the concept of

3) domestic market cannot compete with worldwide market, especially when international
competitors take over the market

4) a proactive strategic approach is used as an ongoing basis in an attempt to reduce the future
probability of environmental pressure
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Passage 3

Most of you are aware of advertising and other forms of promotion directed toward
ultimate consumers or business customers. We see these ads in the media and are often part of
the target audience for the promotions. In addition to developing a consumer marketing mix, a
company must have a program to motivate the channel members. Programs designed to
persuade the trade to stock. merchandise. and promote a manufacture's products are part of a
promotional push strategy. The goal of this strategy is to push the product through the chan
of distribution by aggressively selling and promoting the item to the resellers, or trade.

Promotion to the trade includes all the elements of the promotional mix. Compan
representatives call on resellers to explain the product. discuss the firm's plans for
demand among ultimate consumers and describe special programs being offered to t
such as introductory discounts, promotional allowances and cooperative ad ggograms.
company may use trade advertising to interest wholesalers and retaiders otivate §em to
purchase its products for resale to their customers. Trade advertising pears
publications that serve the particular industry.

A push strategy tries to convince resellers they can make a pro g acturer’s product
and to encourage them to order the merchandise and push it th i
Sometimes manufacturers face resistance from channel membe
an additional product line or brand. In these cases. co o apromotional pull
strategy. spending money on advertising and sales profoti '
ultimate consumers. The goal of a pull strategy is a among consumers and
encourage them to request the product from the the consumer demand. retailers

will order the product from wholesalers. w will request it from the manufacturer.
product through the channels of

2) Preparing for the internati
3) Developing promoti

All of the follow he firm’s plan for creating customer demand and special
program being offered ' EXCEPT ------~-----—-- .

1) peak sale 2) discount scheme

3) advertisi 4) promotional allocation

d “aggressively” in line 7 means -------------——- .

1) broadly 2) inversely 3) shortly 4) competitively
According to the passage, promotion to the trade -------------- .

1) stimulates supply for product through personal selling

2) involves promotional mix to make a profit on a manufacture’s product

3) includes a marketing mix program to enhance the quality of goods and services

4) employs media and non-media communication to increase customer demand











